LT A Ll

18A 18B 18C 18D
1) 124 1) done 1) 16%=173=171. 1) 78-8 1) 72-82
8 2) done 6 6 2 & ¥ f
2 Z_102 9_1083_101 6 _o4l
2) 125 3 5%:6% 2) 9L=10Z 2 112=122-12] 2) 238-24]
5 14 _g6_g3 15 _06_102 M_442
3 132 4 4105251 9 7id-85-83 3 912=108-10% 3 13tl-14Z
zZ 4_ 6_gl 16
4 3 5) 9%:10% A St 4 Tg=8% Y 3
17 10_¢g1 . 12 _g2 _gl 65
5 % 6 62-72-71 %) S =0 % 716810785 5 33
19 4 _451 5_471 19
6 I 7 6%=7% 6 142151 6 162=171 6 X
1 u_ 13 _g 1L 2
n 1z 8) 12-3—:13 0 o= N 573=673 9
5 12 _472 _471 14 _493 3.6l
8 32 9 7%:8% 8 1618-172 -17] g 18dd-103 8 63-6]
3 10_53 12 _54_401 3
9 22 10) 6_%:7 9 410-53 9 112-124-121 9 32
10) Ix2-2 1y 104-11l 10) 73 -8 10) 105 =11 10 dong
3 '3 11) 12x4 x3 =144 cu. in.
12,3 _12+3_ 8 _ 143’ 9_433_131 _
M) g+ig="q =4 12) 1219_3:133 1) 105 =11 1) 125=135=135 12) 2x2x3=12cy. ft.
- 13) 12x13x8 = 1,248 cu. ft.
18} Bisdm il 12) 1318 =144=122 12) 2018 044
7%47 2877 8 g~ "2 9“9 5. o7 _ 212 o4 _ o1
14) 4§+3§—7—8——8-8-—8'§|b8.
18) 7x7x7 =843 cu. in.
14) 25 x 25 x 25 = 15,625 cu. ft. 15) 2x37
15) 41 x 41 x 41 = 68,921 cu. t. 18 lexig=E
16) 2x2x2=8cu.in. 17) (1/2)(10)(15):75.sq. ft,
8 x 6 = 48 cu. in. 18) 3,885 + 7 = 555 miles
17) yes
%)
18) 21,32-53 S
57°5 75 =
(@]
e A gl =
19) 2><4 8sq.ml ﬂ
s B8 RE Liatis g o
20) 97>87 w $>7




15 .16 _31_411

20 20 20 20

12x 14 x 5 =840 cu. in.
21x9x8=1,512cu. in.
7 x 6 x 10 = 420 cu. ft..
20 x 15 x 6 = 1,800 cu. ft.
1,800 x 56 = 100,800 Ibs.
16:2, 4, 8,16

20: 2,4, 5, 10; 20

GCF =4

32 + 32 = 64 ft.

e i s B
G&+ambE =6 fi

18F

2)
3)

4)

7)

8)

10)
11)
12)
13)
14)
15)
16)

17)
18)

19)

20)

19A
14%:15 1)
2)

12 454 _451

1422 =152 =155 3)
16 4166 -163

152 =B =162 2)
45 _14 _ 3

63 63 63 5)
5 .32 _37

40 40 40 6)
48 _7 _ 41

56 56 56 7)
40 42 _40+42 _

48 ~ 48 1 8)
40 _ 20

42 21 9)
1.3_3

27510 10)
12,3 _12:3_4

18~ 18 1 11)

56+7=8;8x4=32

50+5=10;10x3 =30 12)

14+2=7;7x1=7

10 x 15 x 7 =1,050 cu. in.
33x19x12=7,524 cu. in.
5x4x8=160 cu. ft.

25 x 13 x 8 = 2,600 cu. ft. full
2,600 + 2 = 1,300 cu. ft. half full
1,300 x 56 = 72,800 Ibs.

yes
1,12
ota=35-1
1. .1.2..1
2t4°273
1_1
1+2—12 mi.
4. .4.4.20_
B*T"8 "6
4420 ¢ |
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